Geometry Practice G.CO.A.5: Translations 2

WWW.jmap.org

1. Which graph represents a translation?
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2. Write the translation of point P(9, 6) to point

4.

P'(5,1).

[A] (X, Y)—= (X+4,y+5)
[B] (X, y) > (x=4,y-5)
[C] (X, y) = (X=5,y-4)
[D] (X, y)—= (X+5,y+4)

Write the translation of point P(2, —4) to point

P'(-2,1).

[A] (X, y) = (X=35,y+4)
[B] (X, ¥) = (X+5,y-4)
[C] (X, ¥) > (X=4,y+5)
[D] (X, y) > (X+4,y-3)

Write the translation of point P(7, —5) to point

P"(9,-2).

[A] (X, ¥Y)—=> (X+2,y+3)
[B] (X, y)—> (x=2,y-3)
[C] (X, y) > (Xx=3,y-2)
[D] (X, )= (X+3,y+2)

Write the translation of point P(3, —4) to point

P’ (7,1).
[A] (X, y) = (X+4,y+5)
[B] (X, y) > (X=5,y-4)
[C] (X, y) > (X+5,y+4)
[D] (X, y)—> (X-4,y-5)
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6. Write the translation of point P(—4, 3) to point 10. Describe the translation of point P(5, 2) to
P’ (=6, 0). point P’(1, 8).
(A} (6 y) = (x42, y3) [A] (X, ) = (X=4, y+6)
[B] (x.y)= (x+3,y+2) [B] (X, y) = (x+4,y=6)
(€] Y= (x=3.y=2) [C] (%, y) > (x=4,y=6)
[D] (X, ¥) > (X=2,y-3) [D] (X, y) = (X+4, y+6)

7. Describe the translation of point P(6, 3) to 11. Describe the translation of point P(2, 7) to
point P'(10, 9). point P'(7, 9).
[A] (X, y) = (x+4,y+6) [A] (X, y) = (X=5, y+2)
[B] (X,y) = (x—4,y-6) [B] (X,y) = (X+5, y+2)
[C] (X, y) = (X+4,y—6) [C] (%, y) > (X=5,y—2)
[D] (X, y) = (X-4,y+6) [D] (X, ¥) = (X+5,y=2)
8. Describe the translation of point P(—4, 4) to 12. What is the translation image of (2, —6)

point P'(1, 10). under the translation
[A] (X, y) = (X=5,y+6) (X, y) > (x=2,y-3)?

[B] (X, y) &> (X+5,¥y+6)

[C] (% y) = (X+3,y=6) 13. Describe the translation of point P(-2, —9)
[D] (Xa y) - (X_Sa y_6) tOpOintP’(_67_3)'

14. Describe the translation of point P(-9, —4)

9. Describe the translation of point P(—8, —6) )
topoint P’ (-5, —6).

to point P’'(-3, —3).
[A] (X, y) = (X=5,y+3)

[B] (X, y) = (X+5,y+3) 15. Describe the translation of point P(5, —3) to

[C] (X, y) = (Xx+5,¥-3) point P’ (0, —9).

[D] (X, y) = (X=5,¥-3)
16. Describe the translation of point P(2, —7) to
pointP' (-1, —1).
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(Oa - 9)

(X’ y) - (X_4’ y+6)

(X, y) > (x+4,y-2)

(X: y) - (X_Sv y_6)

(Xa y) - (X_37 y+6)
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